T k. 2 6.4F

X FPHEE
(CFRk26FE4 A 1 H 2B ER2T4E3 H 31 H £ C)

(AHEAL: T1)

# H

I — R IE LR EF EE &R D ER
1. BEEROI
(1) BEINE
OEXRGSEERLE
FEAH P 22 U B
QB EEEERLE
TR A PE 2 R
QZWMEE
Feplles B2 g
@3 IR %
= BRI
HEU 2%
BRIt
(2) ®E&EA
ExE
5 B R
KRR
RIS 1
fEAIE A2
il Gk =
11E ERE
DT
DA 2 2
THFEAL
il A
SEOKEE
B - G
B R
R
HEE
EEE
5 B R
KRR
IRIEAS 1
fEFIJE AR
il Gk =
15 ERE
Ea i 3
DA 2 2
THFEAL 2
il AR
BB
EEEL - SR
T
FHBLAR
KB4
MEE
BEER

264FEE TR | 2SEEETHM |
(34) (35) (A1)
34 35 Al
(5, 834) (5, 028) (806)
5,834 5, 028 806
(500) (500) (0)
500 500 0
(236) (&77) (A341)
236 577 A 341
0 0 0
6, 604 6, 140 464
(12, 126) (12, 100) (26)
4, 220 3,990 230
3,710 4, 180 A 470
285 165 120
31 30 1
1, 146 890 256
200 220 A 20
593 415 178
195 205 A 10
386 370 16
5 5 0
71 70 1
320 330 A 10
862 1,045 A 183
57 175 A 118
45 10 35
(2, 659) (2, 820) (A161)
652 890 A 238
660 670 A 10
34 20 14
4 5 Al
32 45 A 13
20 20 0
56 50 6
53 50 3
23 20 3
22 20 2
8 10 A 2
35 50 A 15
530 530 0
88 90 A 2
292 250 42
150 100 50
14,785 14,920 A 135




# B 264 T HAE | 25 E T HE I
S48 25 25 S BE AT L AR B e KA A 8, 181 A 8,780 599
FEAS T PE R A A 2% 45 0 0 0
e PEREAM R 45 5 0 0 0
Qi EA =y 0 0 0
LEARR R A 8, 181 A 8,780 599

2. BENMEROED
(1) FRHAM AR
AN ey 0 0 0
(2) BHENEH
T S R 0 0 0
MR B A A 0 0 0
L H— AR IE LR BA EEHEIRAE A 8, 181 A 8,780 599
— R IE R EE R 135, 923 130, 538 5, 385
— B E R E R TR 127, 742 121, 758 5, 984
3. FiE& 200 0 200
I $5 7€ IE R B EE LS R D BB

4 W T A R AR 0 0 0
feE ERME E ik 20, 000 20, 000 0
TEEIERGE m IR IR & 20, 000 20, 000 0
MIEREAEHRES 147, 542 141, 758 5, 784

() O ALEREZ 10,000FH (fEANTERL)  EiEE&stmze L,

OFFER NMEMRE & (FrEErE) DA ITFHI%EES, 700 TH A 5 L,
(BB LT ZEHEfR & 427, 500 T- 1, JENE B YE(EE 41, 200 F-F1)




